Mathématiques 1MRenf NE-ch.4: Fonctions polyndmes

Exercice 4.

a)

24227 —2—2=0 | groupements
2’ (x+2)—(2+2)=0 |
= (2 +2)(2*-1)=0 | a0 = ...

= (z+2)(z+1)(z—-1)=0

=|S={-2;-1;1}

b)
2} =32 — 4 +12=0 | groupements
= 2%(x —3) —4(x —3) =0 |
= (z-3)(2* —4)=0 | a® b= ..
= (z-3)(z+2)(x—2)=0
=15={-2;2;3}
c)
42° — 120" +92° = 0 | mise en évidence
= 2°(42® — 120 +9) =0 | a®—2ab+b* = ...
= 2*(2r - 3)* =0
=15 ={0;3/2}
d)

1623 — 1622 — 4z +4 =10 mise en évidence
4(42® — 42 —x+1) =0
[4x*(z — 1) — (z = 1)] =0
r—1)(42> -1)=0
r—1)(2z+1)2z—1)=0

|
| groupements
4 |
14 | a®—b = ...
<4

(
(

=S={-1/2;1/2;1}
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